=

T

1/ do/dsum p_ [GeV]
|_\
(@)

1072

Ratio to CMS
[N

0.5

7OOOI va Pp_

[ IIIII|
o
.“
F

m CMS

Sum(pT) (pT > 3)

--3-- Herwig 7.2.0 default
—a— Pythia 8.209 default
----- ¢ Sherpa 1.2.3 default

Underlying Event

mcplots.cern.ch [arXiv:1306.3436]

| | | [ | | | | [ | | [ | | | | | ,:
:l T T T T | T T T T | T T T | T T T :
0 o P
% NSRS ’,_‘5_ N SIS oW X = S, B Elhz RENY
'Y e i & R I [ §' P il ! : r |
RS N S T ALY ¥ /1 S S Y
I ? ‘ ’ R 1 1 - . _: : ki \/ - 1 ; 1 \‘ :‘®\ —]
- L - 1 ' —
! : Y X ;l
1 | vl L h
| 1 _|‘ —
| 1 1 1 1 | 1 1 1 1 | 1 1 " IJI-.E | 1 I: ! 1

35

sum p_ [GeV]

Rivet 3.1.0, = 5.4M events

N

0.5



	Contents
	Page 1


